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Multiply and Divide Radical Expressions
2:5-_10 2.5-_ 218 J2+5-_5{2 J2-45=_i0
2/3-5-_1633 23452115 2/3-4y5-_F N5

Perform the indicated operations and simplify.

1. 547 2. /3421 3. V10430
= ‘ng - ‘I—Z? = 300
= {300 = 1083
4. 4(\Z = 7) 5. v5(6 — V5) 6. 2v3(2v3 — 4V5)
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7. V7(4V7 — 2v3) 8. V3x(Véx — V12) 9. 3W2(V2 - 4) +V2(5 - V2)
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10. (V6 - 3;(«/6+ 4) 11. (Vm - /5) 12. (5vx +2)(2vx - 1)
T3+ dTe -33 -2 @=-IDEw-I%) 10§ 7= -5 8 + W% =2
b +J6 -\ Jot = i v — ) By o5 10z — I -2
Jt —b v =288+ S
P — =N
13, (@—w) 14. (5VZ + 3!(&—3) 15. (3+2v5)"
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Simplest form for fractions with i

1. No perfect square factor under . ex. V75 = V25v3 = 5v3

2. No fractions under a v \/7 \/_ \/-“
Y3 2B 243
3. No+v inadenominator exF \/_ 75— ——3—
4. Must be reduced ex. s_;/_ﬁ = 44/5
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Multiply and Divide Radical Homework Name

Class Time

Perform the indicated operations. Simplify all answers completely.

1. BB =415 2 {398 2. i35 = {140

Jua-io

= 3 = .10
3. V2(3 - 5) = dG - Je Y ﬁ(ﬁ-£)=f§7—ﬁ
= 9-3 = 6
5. J2(4/6 + 4M10) 6. 7(3- 7)
2 +J20 =430 +JUS 365 —fh
= 23 + 25 % T "1
7.  5(3+5 - 443) 8. Jy(fy - V5)
3fzs -4 s Iy -J5y = v- sy
\S —4\ig
g, 2x(Ex = «22) 10. 5 (3 + +15)
Vx> — Jo8x 3Js +J9s = 3§
ug - I
11.  4x(2Vx + 347) 12. 543(43 = 2) + +3(7 - +3)
I » 12{Ax S5la _j63+13-J9
TR L ING \§ ~3J3-3 =12-313
13. (410 -5)(+10 +2) 14. (2 + Jx)(8 + x)
J1%6 + 286 -5 Lo — 10 TAEE o I & e g
16 -3 &6 —10 o+ 108%x + X
= =3Jw
15, e = ST}l & T) 16. (va - VB) :(J_K-J—S‘)(JZ-E)
J:’j+\[§ ~,]/'},</—-m :JA“-—\FSG- ~JSa y {5

A =1 o w2 Ee



£9

17, | {4+ 53 18.  (Vx - y)(Vx +y)
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19. (4+x + 1)(3Vx + 2) 20. (¥2 - 3)(V6 + 5)
2%+ gdx 4+ 30x + 2 Jiz + 680k =38 —\S
283 4+ S8 -3J¢ ~-\S
21 27 {2 ___L 14 _‘(E l‘l )3 &_\]?ﬂ
16~ Vi Yy 92 & 7y I P
= E_{_é K \x"f'@ . 2;__{__@_
Y S R
7 _ A7 -Js 10 :,ﬁ—‘;—'.ﬁ » .3 243
24. - T e 25, — Y 26. —— i
5 R s 7 NPT
S T = 38 _Iw = 203
&s ~ s 4l 1 3
27 5+ o -_S__@—EEJ 28 iﬁ_‘oﬁ 29 _‘r 7—‘“;
BRIV FY SN T ST 193 * sm T S36
= i TR IR T
& 2 e | .3
Homework: This worksheet PLUS Page 385: 52; Page 395: 15, 21
Answers to odd problems:
1. 543 3. J6 -10 943 4246 7. 15 - 44/15 9. 4x - 84X
11. 8x +124/7x - 13. -3410 15, x=7 17.;1!+40\/§ 19, 12% + 11x + 2
21. % 23, % 5, @ 27. \/—12_9 29. @



